
1)
27

Volume of Cone 
24

Answer: ____________

2)
24

Volume of Cone 
22

Answer: ____________

3) Decrease 40 by 16%

Answer: ____________

4)
30  Find Volume of 
               24       Cylinder 

Answer: ____________

5)
30  Find Volume of 
               28       Cylinder 

Answer: ____________

6)
20  Find Volume of 
               20       Cylinder 

Answer: ____________

7)
27

Volume of Cone 
21

Answer: ____________

8) What would you multiply by to 
increase an amount by 26%?

Answer: ____________

9)
26

Volume of Cone 
26

Answer: ____________

10) Solve by factorising 
s2 + 7s - 8 = 0

Answer: ____________

11) Factorise 7x2 + 18x + 8

Answer: ____________

12) Increase 16.8 by 52%

Answer: ____________

13) Decrease 98.7 by 53%

Answer: ____________

14)
27

Volume of Cone 
21

Answer: ____________

15) What would you multiply by to 
decrease an amount by 15%?

Answer: ____________
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16)
27  Find Volume of 
               25       Cylinder 

Answer: ____________

17) Factorise 4d2 + 28d + 13

Answer: ____________

18) What would you multiply by to 
decrease an amount by 54%?

Answer: ____________

19) $320.00 earning 1.7% compound 
interest for 2 years.

Answer: ____________

20)
29  Find Volume of Cone 

22

Answer: ____________

21) $107.00 earning 1.7% compound 
interest for 5 years.

Answer: ____________

22) Solve by factorising 
x2 + 18x + 17 = 0

Answer: ____________

23) Decrease 55 by 51%

Answer: ____________

24) Solve by factorising 
j2 + 13j - 14 = 0

Answer: ____________

25) Find the value of 'j' by completing the 
square of the following equation: 2 + 
4j + 4

Answer: ____________

26) What would you multiply by to 
decrease an amount by 85%?

Answer: ____________

27)
30  Find Volume of 
               29       Cylinder 

Answer: ____________

28)
25

Volume of Cone 
25

Answer: ____________

29) Solve by factorising 
d2 - 19d - 20 = 0

Answer: ____________

30) $209.00 earning 2% compound 
interest for 5 years.

Answer: ____________
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31)
30

Volume of Cone 
27

Answer: ____________

32)
29  Find Volume of 
               21       Cylinder 

Answer: ____________

33) What would you multiply by to 
decrease an amount by 39%?

Answer: ____________

34) Find the value of 'j' by completing the 
square of the following equation: 2 + 
8j + 12

Answer: ____________

35) Solve by factorising 
s2 + 3s + 2 = 0

Answer: ____________

36) Factorise 8f2 + 18f + 4

Answer: ____________

37)
24  Find Volume of 
               21       Cylinder 

Answer: ____________

38) Decrease 45.4 by 55%

Answer: ____________

39) Solve by factorising 
j2 - 6j + 9 = 0

Answer: ____________

40) What would you multiply by to 
increase an amount by 23%?

Answer: ____________

41)
23  Find Volume of Cone 

21

Answer: ____________

42) Solve by factorising 
d2 - 12d - 13 = 0

Answer: ____________

43) Decrease 64 by 31%

Answer: ____________

44) Find the value of 'x' by completing 
the square of the following equation: 
2 + 8x + 12

Answer: ____________

45)
30  Find Volume of Cone 

30

Answer: ____________
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46) Decrease 68 by 80%

Answer: ____________

47) Decrease 83 by 26%

Answer: ____________

48) Find the value of 'f' by completing 
the square of the following equation: 
2 + 8f + 16

Answer: ____________

49) Find the value of 'd' by completing 
the square of the following equation: 
2 + 10d + 16

Answer: ____________

50) Increase 44 by 15%

Answer: ____________

Total: ___ / 50
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Answers:

1) 16286.016316209 2) 12164.2467547 3) 33.6 4) 13571.680263508 5) 73890.259212432 6) 25132.741228718 7) 12468.981242098

8) 1.26 9) 18405.544159831 10) s = 1 or -8 11) (1x + 2)(x + 4) 12) 25.536 13) 46.389 14) 12468.981242098

15) 0.85 16) 13253.594007332 17) (2d + 13)(d + 1) 18) 0.46 19) $330.97 20) 3674.6162071489 21) $116.41

22) x = -1 or -17 23) 26.95 24) j = 1 or -14 25) (j + 2)2 26) 0.15 27) 19815.595662518 28) 16362.461737447

29) d = 20 or -1 30) $230.75 31) 22902.21044467 32) 10044.45711169 33) 0.61 34) (j + 4)2 - 4 35) s = -1 or -2

36) (2f + 4)(f + 2) 37) 8312.6541613986 38) 20.43 39) j = 3 or 3 40) 1.23 41) 2655.4311904468 42) d = 13 or -1

43) 44.16 44) (x + 4)2 - 4 45) 7068.583470577 46) 13.6 47) 61.42 48) (f + 4)2 49) (d + 5)2 - 9

50) 50.6
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